BB BRI

O R S (Y : -
| gy B £ A% %(m)
B K 1 2 3 4 o) 0 / 3 9 10 11 12 13 14 19 16 17 18 19 20 A 27 25 24 29 26 27 28 29 30 31 32 33 34 39 56 57 185 (1.5 1129 116.0 [19.2 |21.4 |23.2
L140X10 545.1 69.0 90.7 112.4 134.0 155.7 177.3 76.6 98.3 119.9 141.6 163.2 184.9 70.1 91.8 113.4 135.1 156.8 178.4 200.1 221.7 243.4 945.1 545.1 545.1
0420 L125X8 39.1 39.1 39.1 39.1 39.1 39.1 39.1 39.1 39.1 39.1 39.1 39.1 78.2 78.2 18.2
Mo 584.2 39.1 39.1 39.1 39.1 39.1 39.1 39.1 69.0 90.7 112.4 134.0 155.7 177.3 76.6 98.3 119.9 141.6 163.2 184.9 70.1 91.8 113.4 135.1 156.8 178.4 200.1 221.7 243.4 39.1 39.1 39.1 39.1 623.3 623.3 623.3
L125X10 326.3 435.2 326.3 326.3 761.5 761.5 761.5 761.5 761.5
y L110X8 33.0 30.3 34.1 63.3 63.3 97.4 97.4 97.4 97.4 97.4
L100X8 206.4 206.4 206.4 206.4 206.4 206.4 206.4 206.4
L90X7 187.2 187.2 187.2 187.2 187.2 187.2 187.2 187.2
L80X6 29.0 40.4 52.4 34.0 45.2 57.4 51.4 63.8 76.4 53.2 65.2 71.8 53.8 65.4 71.8 65.0 11.2 89.8 81.2 93.6 106.6
Q345 L/5X6 47.9 9.7 472.6 6.8 107.0 107.0 107.0 107.0 107.0 107.0 107.0
L/75X5 14.6 14.6 14.6 14.6 14.6 14.6 14.6 14.6
L/0X6 3.8 37.5 80.5 6.4 337.2 128.2 128.2 128.2 128.2 128.2 128.2 4654
L70X5 32.8 108.5 3101 476.6 183.4 218.6 141.2 4514 634.8 451.4 670.0 928.0 | 1069.2 928.0
L63X5 18.0 38.2 13.3 47.6 89.2 440.4 253.6 98.5 115.0 89.7 164.3 92.8 219.8 304.8 321.3 136.4 811.0 739.5 866.5 880.3
M o# 69.2 38.2 85.4 90.2 243.1 408.7 755.9 909.7 476.6 570.8 98.5 298.4 89.7 382.9 92.8 361.0 29.0 40.4 52.4 34.0 45.2 57.4 51.4 63.8 76.4 53.2 65.2 71.8 53.8 65.4 71.8 65.0 11.2 89.8 81.2 93.6 106.6 | 1789.2 | 1989.1 | 2690.1 | 2983.3 | 3169.8 | 3438.0 | 3647.8
L56X5 3.2 12.4 116.2 58.0 64.6 47.0 189.8 196.4 178.8 131.8 131.8 131.8 131.8
L56X4 207.5 9.6 78.8 25.3 2171 2171 2171 2171 295.9 2171 2171
l L50X5 16.6 17.6
L50X4 9.6 1.2 20.4 12.9 16.9 12.4 10.1 11.7 16.3 17.6 19.1 11.8 31.7 45.6 37.1 25.7 38.6 71.1 78.7 79.4 19.4 79.4 79.4 19.4
0235 L45X4 13.4 13.4 15.8 135.7 67.9 13.4 18.3 34.3 20.3 15.7 19.6 29.3 10.3 29.2 24.4 19.0 55.5 42.6 4.6 47.6 4.6 42.6 110.5 178.3
L40X4 5.8 9.9 10.1 8.1 112.2 25.9 12.3 14.1 104 11.4 1.4 13.9 8.4 15.0 14.1 13.6 6.4 14.7 8.6 1.8 14.3 25.8 25.8 46.2 48.0 156.5 157.5 172.0
L40X3 12.0 12.0 16.7 217.6 6.1 38.0 109.2 63.5 21.2 71.8 63.2 14.6 17.2 50.8 17.2 14.0 24.2 6.3 26.4 41,7 2.8 18.1 34.1 5.2 23.8 21.6 24,4 20.8 311 12.2 26.6 39.8 133.6 190.2 221.6 284.8 285.1 285.1 285.1
Mo 25.4 28.6 38.7 50.6 233.7 154.7 65.0 129.7 175.7 161.6 89.3 1541 99.3 11.3 89.2 79.3 14.6 17.2 30.8 17.2 21.4 38.1 28.1 41.4 60.0 33.2 92.4 68.0 449 62.5 83.4 66.4 75.0 97.4 87.6 108.6 127.2 686.0 750.8 185.7 803.7 991.3 981.4 | 1063.7
-12 42.9 47.9 42.9 41.8 42.9 42.9 41.8 42.9 42.9 41,5 41,5 4.4 41.7 41,5 41.5 41.7 41.6 41.6 42.9 41.5 42.9
0420 -10 47.4 45.5 47.4 474 47.4 49.4 41.5 41.5 47.4 47.4 47.4 49.4 88.9 88.9 92.9
Aot 47.4 45.5 474 474 474 49.4 41.5 41.5 42.9 47.9 42.9 41.8 42.9 42.9 41.8 42.9 42.9 41.5 41.5 41.4 41.7 41.5 41.5 41.7 41.6 41.6 42.9 415 42.9 474 47.4 47.4 49.4 88.9 88.9 92.9
5 -6 12.6 9.2 70.3 6.6 45.6 49.9 54.4 52.0 25.2 4.3 24.9 198.7 196.3 219.4 228.5 219.1 194.2 194.2
-8 14.0 13.6 33.0 97.6 99.2 J6.4 68.8 27.0 37.9 20.8 20.5 21.7 41.6 3.2 3.2 4.7 3.2 3.2 4.7 3.6 4.7 4] 3.5 4.3 4.3 3.2 3.6 4.3 3.5 4.1 4.3 3.2 4.0 4.7 284.4 295.3 314.6 314.3 315.5 335.4 362.6
-18 26.0 24.6 50.6 50.6 50.6 90.6 50.6 50.6 90.6
Q345 -20 67.0 67.0 67.0 67.0 67.0 67.0 67.0 67.0
-22 42.0 448 86.8 86.8 86.8 86.8 86.8 86.8 86.8
=30 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43.5 43,5 43.5 43.5 43.5 43.5 43.5 43.5 43.5
AN o# 38.6 33.8 56.0 58.4 170.3 104.2 144.8 86.3 68.8 81.4 89.9 46.0 54.8 46.6 41.6 46.7 46.7 48.2 46.7 46.7 48.2 471 48.2 48.2 47.0 47.8 47.8 46.7 471 47.8 47.0 476 47.8 46.7 47.5 48.2 687.5 696.0 138.4 7147.2 739.0 134.0 761.2
-2 1.8 1.8 1.8 1.8 1.8 1.8 1.8 1.8
-6 3.2 3.2 3.9 2.1 95.3 443 6.9 1.6 1.4 1.2 1.2 1.6 1.6 35.3 5.2 5.0 1.4 5.2 4.8 1.4 5.2 1.4 10.4 5.2 1.4 10.2 5.4 1.2 10.2 1.2 1.6 10.4 1.6 10.4 12.2 119.4 119.2 126.1 126.5 126.5 154.2 126.5
-8 0.2 0.2 0.2 0.6 1.2 1.2 1.2 1.2 1.2 1.2 1.2
n -10 4.8 1.9 9.1 1.1 2.2 15.8 15.8 16.9 16.9 19.1 19.1 19.1
02357 14 14 1.4 14 14 1.4 14 14
-14 0.3 0.3 0.3 0.9 0.9 0.9 0.9 0.9 0.9 0.9
-16 0.3 0.3 3.6 4.2 4.2 4.2 4.2 4.2 4.2 4.2
M o# 3.1 3.7 4.5 2.6 60.1 46.8 15.9 8.0 2.2 1.6 1.4 1.2 1.2 1.6 1.6 35.3 5.2 5.0 1.4 5.2 4.8 1.4 5.2 1.4 10.4 5.2 1.4 10.2 5.4 1.2 10.2 1.2 1.6 10.4 1.6 10.4 12.2 144.7 144.5 152.5 152.9 155.1 182.8 155.1
M16X40 2.5 2.5 2.5 3.0 26.5 16.0 5.2 12.1 8.1 1.5 8.1 11.5 6.3 9.2 6.4 8.1 2.5 2.5 4.0 2.5 2.2 3.7 2.6 3.7 5.6 2.5 3.6 5.5 2.6 4.2 6.1 4.2 3.9 5.9 3.7 5.6 1.2 66.3 69.7 76.6 79.5 84.8 86.5 85.9
M16X50 1.0 1.0 0.6 1.0 15.9 6.9 2.7 4.5 3.8 4.5 3.5 5.1 0.3 0.3 0.6 0.3 0.6 1.0 0.2 1.0 1.4 0.5 1.1 1.6 0.5 1.1 1.6 1.1 1.4 1.8 1.6 2.1 2.4 32.6 34.2 33.6 33.6 31.4 37.4 41.9
M16X60 0.2 0.2 0.7 1.1 1.1 1.1 1.1 1.1 1.1 1.1
# mmﬁzaxmogﬂv 3.0 3.0 3.0 3.0 3.0 3.0 3.0 3.0
T IM16X60(RH) 0.8 0.8 1.6 1.6 1.6 1.6 1.6 1.6 1.6
M16X70( k) 0.9 0.9 0.9 2.7 2.1 2.7 2.7 2.7 2.7 2.7
N o# 4.3 5.2 4.2 5.1 45.4 25.6 7.9 16.6 11.9 12.0 11.6 16.6 6.3 9.2 6.4 8.1 2.8 2.8 4.6 2.8 2.8 4.7 2.8 4.7 1.0 2.8 4.7 7.1 3.1 5.3 1.1 5.3 5.5 1.1 5.3 1.7 9.6 107.3 112.3 118.6 121.5 130.6 132.3 136.2
M20X45 8.6 4.3 5.4 5.4 25.9 23.8 17.3 18.4 24.8 14.0 18.4 16.2 23.8 16.2 24.8 104.7 109.1 125.3 132.9 125.3 133.9 133.9
M20X55 1.2 3.5 37.2 33.1 20.1 16.5 15.4 24.8 21.3 11.8 13.0 11.8 14.2 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 4.7 5.9 5.9 5.9 99.8 96.3 106.9 108.1 123.4 125.8 127.0
M20X65 29.5 30.8 30.8 30.8 30.8 32.0 30.8 30.8 30.8 30.8 60.3 61.5 91.1 91.1 121.9 121.9 121.9
6.84 M20X60( %) 2.9 2.9 2.9 2.9 2.9 2.9 2.9 2.9
B> M20X70( ) 3.9 2.3 1.5 1.7 1.1 1.7 1.7 1.1 1.7 1.7
M20X80( %) 6.6 6.6 4.9 18.1 18.1 18.1 18.1 18.1 18.1 18.1
N o# 13.7 6.6 12.0 12.0 38.7 61.0 79.9 69.3 47.3 71.0 69.6 n.7 58.8 67.6 58.8 69.8 5.9 9.9 5.9 5.9 5.9 9.9 5.9 5.9 5.9 5.9 5.9 5.9 5.9 9.9 5.9 5.9 9.9 4.7 5.9 5.9 5.9 293.5 295.6 352.0 360.8 399.3 410.3 411.5
R4t 18.0 11.8 16.2 17.1 84.1 84.6 87.8 85.9 59.2 83.0 81.2 88.3 63.1 76.8 65.2 77.9 8.7 8.7 10.5 8.7 8.7 10.6 8.7 10.6 12.9 8.7 10.6 13.0 9.0 1.2 13.6 11.2 1.2 12.4 1.2 13.6 19.5 400.8 407.9 470.6 482.3 529.9 542.6 547.7
M16X180 2.9 2.3 2.5 3.9 4.2 0.7 1.3 2.0 2.9 3.6 4.2 1.0 2.0 2.6 3.6 4.2 4.9 1.0 2.0 2.6 2.9 3.9 4.6 5.5 6.2 6.8 1.5 1.5 11.4 11.4 15.6 15.6 15.6
] 6.84 M20X200 0.6 1.9 1.9 1.2 0.6 1.2 1.2 1.2 0.6 0.6 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 0.6 0.6 0.6 0.6 0.6 0.6 0.6 0.6 0.6 5.6 0.6 6.2 6.2 1.4 1.4 1.4
7 Mot 3.5 4.2 4.2 5.1 4.8 1.2 1.2 1.2 0.6 0.6 1.2 1.2 1.9 2.5 3.2 4.1 4.8 5.4 1.6 2.6 3.2 4.2 4.8 9.5 1.0 2.0 2.6 3.5 4.5 5.2 5.5 6.2 6.8 13.1 13.1 17.6 17.6 23.0 23.0 23.0
-3(¢17.5) 0.1 0.1 0.1 0.1 0.4 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.9 0.9 0.9 0.9 0.9 0.9 0.9
# 0235 —4(922) 0.3 0.2 0.2 0.3 0.3 0.3 0.3 0.5 0.5 0.7
: M o# 0.1 0.1 0.1 0.1 0.4 0.4 0.2 0.2 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 1.2 1.2 1.2 1.2 1.4 1.4 1.6
A it Ax@v 155.0 116.2 200.9 219.0 795.2 803.6 | 1073.6 | 1224.7 | 1350.3 977.8 445.5 125.6 354.4 688.5 383.2 676.9 218.1 254.27 307.9 291.8 330.3 387.4 260.6 319.3 374.0 334.7 393.0 448.7 272.7 328.8 390.4 371.2 4216 483.1 482.9 543.2 602.9 | 3809.0 | 4089.1 | 49426 | 52/6.7 | 6321.7 | 6615.4 | 6916.3
@#m&ﬁ@%.
ARREKERERRIR
H#m) 12.0 15.0 18.0 21.0 24.0 27.0 30.0
LBARE O~ O~ O~ O~B®® O~Om O~®® O~
R BE | £ &R BY | £% R By |28 &R By |28 &R BY | £% R By | £ &R By | £%
12.0-2.0m| @x4 [4681.4 [15.0-2.0m| @4 [5256.3 [18.0-2.0m| @x4 [5985.0 [21.0-2.0m| @xs [6615.5 [24.0-2.0m| @x4 |7412.5 [27.0-2.0m| @xs [8124.2 [30.0-2.0m| D4 |8847.9
12.0-1.0m | @4 (48258 [15.0-1.0m | @x4 |5410.3 |18.0-1.0m | @x4 [6203.8 |21.0-1.0m | @4 |6848.7 |24.0-1.0m| GOx4 |7636.9 |27.0-1.0m| (x4 |8301.8 |30.0-1.0m| @Bx4 |9089.1 404 <<©|LM%@%%/ w@w@w\\rﬂ
12.0-0.0m| @x4 |5040.6 |15.0-0.0m| @x4 [5638.7 [18.0-0.0m| @x4 (6438.6 |21.0-0.0m| @x4 |7071.5 |24.0-0.0m| @x4 |7883.3 |27.0-0.0m| @4 |8547.8 |30.0-0.0m| x4 |9327.9 H H
\ NN N —
REFAAL R &(Z
!
K 1C1TW9—-J2-01(2/3




